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Clues across:


1.	The pull of the Earth on one ____ = 9.8 newtons.


8.	Change in velocity divided by time taken.


10.	A fresh weight for Sir Isaac?


13.	One joule is the energy needed to move 1 N�through ____ metre.


14.	Speed equals distance travelled divided by�____ .


15.	Source of wisdom!


17.	Like action or reaction?


18.	Velocity and force are ____ .


21.	Your most valuable equipment in experiments.


23.	Physics is ____ special!


25.	Power is work done divided by ____ .


26.	An electric _____ transfers chemical energy in a battery to kinetic energy.


27.	Not the first unit of time?


28.	A wound-up spring has ____ energy.


31.	It might make you move.


32.	Shortened unit of electric current.


35.	What is the unit!


36.	You have been, all term.


37.	Newton’s First Law: a stationary object, with no�resultant force acting on it, remains at ___ .


38.	3.141 592 653 589 793 238 462 643 383 279�502 884 197 169 399 375 105 8 . . . .


39.	Speed? Not quite.


40.	If a velocity–time graph is a straight line, the�acceleration is ___ .





Clues down:


1. and 9.	 A heavy lorry travelling at high speed has�a lot of this.


2.	Newton’s Third Law: apply a force in, the�reaction is ___ .


3.	In a little while you have the turning effect of a �force!


4.	Newton’s Third Law: apply a force to the west;�the reaction is to the ___ .


5.	Force is measured in ___ .


6.	A man walking at 2 m/s for 4 seconds covers a�distance of ___ metres.


7.	It keeps you going when the car crashes.


9.	See 1 down.


11.	The pull of gravity.


12.	A joule is a unit of power – yes or no?


16.	When there is a resultant force on a body, it�____ .


19.	Push or pull to ___ a force.


20.	When you divide by ‘time’, you are calculating a�___ .


21.	An experimental inaccuracy.


22.	A dynamo transfers kinetic energy to make an ___�current.


24.	Cold place with little friction.


28.	Rate of working.


29.	Take in fuel.


30.	An electric lamp produces mostly thermal energy and not much energy to  ___ the room.


33.	A city where you might be inclined to�experiment!


34.	Thermal energy is used to ___ your living room.


36.	If the mass is 6 kg and the volume is 3 m3, then�the density is ___ kg/m3.
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